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ENGLISH VERSION

Instructions : (1) Answer any four questions.

(2) All questions carry equal marks.

(3) Show required calculations as the part of the
answer.

Rajan company has the following two projects. You have 17.5

to decide which of these two projects to choose.

Particulars Project -X |Project-Y
Original Investment (Rs.) 10,40,000 15,60,000
Estimated life (Years) 4 5
Scrap Value (Rs.) 80,000 1,60,000
Discount Rate 12% 12%

Profit before depreciation and

50% taxation :

18t year (Rs.) 3,20,000 4,80,000
2nd year (Rs.) 4,00,000 5,60,000
3rd year (Rs.) 4,80,000 6,40,000
4th year (Rs.) 6,00,000 7,20,000
5th year (Rs.) - 6,00,000

Present value of Re. 1 at 12% and 15% discounted rates

are as under :

Year 1 2 3 4 5

12% | 0.893 [ 0.797 | 0.712 | 0.636 | 0.567

15% | 0.870 [ 0.756 | 0.658 | 0.572 | 0.497

You are requested to guide the management of the company
which project i1s to be choosed on the basis of following
methods :

(1) Net Present Value Method
(2) Profitability Index Method
(3) Internal Rate of Return Method
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2  Anupama Co. Ltd. thinks to choose a project. It has

two plans for this. The

investment

17.5

in each will be

Rs. 20,00,000. The life span of the project is five years.
Depreciation 1s according to the straight line method.

The taxation rate is 30%.

Annual Cash Flow before depreciation and taxation are as

under :
Year Project-1 Project - 2
(Rs.) (Rs.)
1 8,00,000 9,00,000
2 9,00,000 9,40,000
3 8,00,000 7,50,000
4 7,20,000 8,00,000
5 9,00,000 8,60,000

Present value of Re. 1 for the first five years at the 10%
discounted rate are respectively 0.909, 0.826, 0.751, 0.683

and 0.621.

From this information evaluate the projects by wusing

(1) Pay-back period method (2) Average Accounting Rate of

Return method and (3) Net present value method and give

the proper advice.

3 Anuj Ltd. has two projects. Following are the 17.5

particulars of it (amount in Rs. ‘000).
Market Probability Cash Flow Cash Flow
Position (Rs.) (Rs.)

of Project-A |[of Project-B
High 0.2 50 60
Normal 0.6 40 40
Low 0.2 30 20

You have to advise which of the two projects is safe in terms

of risk, based on the deviation.
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4 Evergreen Ltd. has two proposals to purchase Machine - P 17.5

or Machine - Q. Use the “certainty equivalent evaluation
approach” to accept any one proposal. Relative particulars
are as under :

Year Machine - P Machine - Q
Cost value = Rs. 1,80,000 | Cost value = Rs. 1,85,000
Risk free Investment Risk Free Investment
Rate = 20% Rate = 20%
Expected Certainty Expected Certainty
Net Cash |Equivalent Net Cash | Equivalent
Flow value Flow value
(Rs.) (Rs.)
1 80,000 0.6 90,000 0.5
2 1,10,000 0.7 1,00,000 0.8
3 1,30,000 0.5 1,20,000 0.7
4 1,20,000 0.8 1,40,000 0.4
5 1,40,000 0.4 1,30,000 0.8

Present value of Re. 1 for the next five years at 20%

discounted rate are respectively 0.833, 0.694, 0.579, 0.482

and 0.402.

Answer the following questions on basis of proper calculations:

(1) Which machine should buy? Why?

(2)  Which machine is risky in terms of capital investment?
What is the reason?

(3) According to the risk based discount rate method, for
which machine the high discount rate should be
calculated? What is the reason?

5  Ashutosh Colour Manufacturing Co. produces “Oil-paint” 17.5
as the main product. During the process the chemical-x also
produced as a by-product. Manufacturer has following three
types of options of operations in this regard.

Option 1 : Giving job work for chemical-x.

Option 2 : Increase production time separately for chemical-x.
Option 3 : Putting an automatic machine for chemical-x
However, the right choice can be based on the quantitative
scale of the market demand for chemical-x as these three
options are also linked to the market demand potential.
According to which the probabilities of low, normal and high

in the market can be 0.15, 0.45, and 0.40 respectively. The
relative effect of cost based profit (per unit) is furnished by
the company as follows :
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Levels of Amount as per option Amt. (Rs.)

Market Probability | Job work Increase | Automatic

Demand (Option 1) prod. time machine
separately | (Option-3)

(Option - 2)

Low 0.15 200 (~180) (~190)

Normal 0.45 200 100 200

High 0.40 300 300 400

Draw the decision tree and show the selection of most

preferred option. Take the relative expected value of each

option as the basis.

6 Levish manufacturing company produces parts of a 17.5
machine. Following are the list of activities showing its
process.

Activity Estimated days

Predecessor |Optimistic |[Most likely [ Pessimistic
(0) | Likely (M) (P)
A — 5 10 15
B A 16 18 26
C — 15 20 31
D — 8 18 28
Draw the PERT network; state estimated time (te) and
critical path with slack time.

7  Explain the concept of social cost-benefit analysis and 17.5
discuss the meaning and scope of Social Responsibility
Accounts at Corporate level.

8 Give the explanation about the meaning of strategic 17.5

management accounting and strategic triangle.
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